GENERATORE | I_I U I_I L

1.6

GENERATORE
DI FUNZIONI




SEGNALE DI
INGRESSO

+

AMPLIFICATORE

USCITA

TRASDUTTORE

>

3.6







A
Vout

A

/\ AVout = —(Vin*AD/(RC)




6.6







\zona di saturazione

dell'amplificatore

| zona di comportamento
|lineare dell'amplificatore

=

t

zona di saturazione
dell'amplificatore




9.6



v,

<y




out
‘_.—
| VR2 Vi
\TL Rk cosinite A i

11.6




13.6

i

1

R

12.6

r -k
out

7




Yout

14.6



Vout

A




51

Tl

VR1= VR2=Vs2=Vy

Vi=VRr

Ve

16.6




USCITA
COMPARATORE

USCITA
INTEGRATORE

\/\/\/ g 17.6




